
 



 
Lösung:        erstellt von Wigbert Florian 
 
 
Aufgabe 1: 
 
 a) (+157) + (-239) =  157 - 239 =  - 82 

 

 b) (-7,2)   + 4,9 =  - 7,2 + 4,9 =  - 2,3 
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Aufgabe 2:
 
a) x = -17,7 - 33,7  =  - 51,4 

b) x = 256 -12   =  244 
 
 
 
Aufgabe 3: 
 
 - 23,93 + 17,4 - 6,07 + 12,6   = 
  
 17,4 + 12,6 - 23,93 - 6,07 =   Kommutativgesetz 
 
 (17,4 + 12,6) - (23,93 + 6,07) =   Assoziativgesetz 
 
  30    -    30  = 0 
 
 



Aufgabe 4:
 
a) -(217 + 612) + (- 185 + 315) - 414  =  - 217 - 612 - 185 + 315 - 414  = - 1113 

 

b) - 17,2 - 13,8 - (5 - 6,3 - 1,8 + 9,2)   =  - 17,2 - 13,8 - 5 + 6,3 + 1,8 - 9,2 = - 37,1 
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Aufgabe 5: 
 
 Die Behauptung stimmt, denn 
 
 3 - (5 - 7) - 9   =  3 - 5 + 7 - 9  =  - 4 
 
 (3 - 5) - (7 - 9) =  3 - 5 - 7 + 9  = 0 


